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  
  







 
  
 
 

 


 
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 


  






  
 
 


  



 
  
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 
 
 
 
 
 
  
 





 octave




octave:1> 

 
Ctrl-C

 quit exit





 help doc

 
help command

 help size, help plot, help figure, 
help inv, ...

 help help

 q 





 



 


 help round 
ROUND  Round towards nearest integer.

ROUND(X) rounds the elements of X to the nearest
integers.

See also floor, ceil, fix.

[...]

  
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 
 
  
 





 
  
 











 







 
octave:1> A = [8, 2, 1; 3, -1, 4; 7, 6, -5]



A =

8   2   1

3  -1   4

7   6  -5









 
octave:1> a
a = 4



 
octave:2> a;

octave:3> sin(phi);







 
s = 3 s = 'octave' 

 who whos 


Variables in the current scope:

Attr Name        Size                   Bytes  Class
==== ====        ====                   =====  ===== 

A           3x3                       72  double
a           1x1                        8  double
ans        21x1                      168  double
s           1x5                        5  char
v           1x21                      24  double










 realmin 


 realmax 


 eps 





 
 
 
 
 
 
 
 
 
  
 







 
octave:1> A = [8, 2, 1; 3, -1, 4; 7, 6, -5]

 

 



A = [8 2 1;3 -1 4;7 6 -5]

A = [8,2,1;3,-1,4;7,6,-5]







 
A =

8   2   1
3  -1   4
7   6  -5

 
octave:2> phi = pi/3;

octave:3> R = [cos(phi) -sin(phi); sin(phi) cos(phi)]

R =

0.50000  -0.86603
0.86603   0.50000







octave:1> A = [1 1 1; 2 2 2];  B = [33; 33];

 
octave:2> C = [A B]

C =
1   1   1   33
2   2   2   33

 
octave:3> D = [A; [44 44 44]]

D =
1   1   1
2   2   2 
44  44  44









 aij = A(i,j) 

 r = A(i,:) 

 c = A(:,j) 

 B = A(i:k,j:l) 

 end 

octave:1> data = [4 -1 35 9 11 -2];
octave:2> v = data(3:end)
v =

35  9  11  -2





 :

  
A(3,:), B(:,5)

 

indices = 1:5 

steps = 1:3:61 

t = 0:0.01:1 

 linspace

 







 
octave:1> A = [1 2 3 4 5; 2 2 2 2 2; 3 3 3 3 3];

octave:2> A(3,:) = -3;



  
octave:3> A(4,:) = 4

A =
1   2   3   4   5
2   2   2   2   2

-3  -3  -3  -3  -3
4   4   4   4   4







 [] 


octave:4> A(2,:) = []

A =
1   2   3   4   5

-3  -3  -3  -3  -3
4   4   4   4   4

octave:4> A(1:2:5,:) = []

A =
2   4
2   2

-3  -3
4   4







 nr = size(A,1) 

 nc = size(A,2) 

 [nr nc] = size(A) 

 l = length(A) 

 numel(A) 

 isempty(A) 



 nr = rows(A) 

 nc = columns(A) 







 B = 3*A 

 C = A*B + X - D 

 B = A' 

 B = inv(A) 

 s = v'*Q*v 

 d = det(A) 

 [v lambda] = eig(A)  

 [U S V] = svd(A) 

  







x 

 s = x'*x 

 X = x*x' 

 e = x*x 



 s = x.+x 

 p = x.*x 

 q = x./x 

 e = x.^3 







 sum(v) 

 cumsum(v) 


 prod(v) 

 cumprod(v) 


 diff(v) 


 mean(v) 

 std(v) 







 min(v) 

 max(v) 

 sort(v,'ascend') 

 sort(v,'descend') 

 find(v) 
 

 
ivec = find(datavec == 5).







 A = zeros(m,n) 

 B = ones(m,n) 

 I = eye(n) 

 D = diag([a b c]) 
 




 M = magic(n) 









 R = rand(m,n) 



 N = randn(m,n) 



 v = randperm(n) 











 
octave:1> A = ones(2,5,2)



A =
ans(:,:,1) =

1   1   1   1   1
1   1   1   1   1

ans(:,:,2) =
1   1   1   1   1
1   1   1   1   1







 



 [m n l] = size(A)

 A = ones(m,n,l)

 m = min(min(min(A)))

 aijk = A(i,j,k)

 A(:,:,5) = -3





 
 
 
 
 
 
 
 
 
  
 







 plot(x,cos(x)) 


 

 figure(n) 




 figure 








 plot(x1,y1,x2,y2,...)
plot(x,cos(x),x,sin(x),x,x.^2)

 legend
legend('cos(x),'sin(x)','x^2')

 hold on 
octave:1> hold on; plot(x,cos(x));

octave:2> plot(x,sin(x));

octave:3> plot(x,x.^2);







 clf 

 hold on 


 grid on 

 grid off 

 title('Exp1') 

 xlabel('time') 

 ylabel('prob') 







 plot(x,cos(x),'r+') 
'r+' 

 
help plot



octave:1> x = linspace(0,2*pi,100);

octave:2> plot(x,cos(x),'r+',x,sin(x),'bx');







plot(x,cos(x),'r+',x,sin(x),'bx');








 print –deps myPicBW.eps  

 print –depsc myPic.eps  

 print –djpeg –r80 myPic.jpg 

 print –dpng –r100 myPic.png  

help print 


 print 

 print('-dpng','-r100','myPic.png');





 
 
 
 
 
 
 
 
 
  
 





 



octave:1> v = 1:10
octave:2> v(0)
error: subscript 

indices must be either positive integers or 
logicals.

 












 if 

if condition,
then-body;

elseif condition,
elseif-body;

else
else-body;

end

 
 







 switch 

switch expression
case label
command-list;

case label
command-list;

...
otherwise
command-list;

end









 while 

while condition,
body;

end

 for 

for var = expression,
body;

end







 break

for while 


 continue

for while 









  
 

i == 6, cond1 = (d > theta)

  


[1 2; 3 4] == [1 3; 2 4] [1 0; 0 1]

  


[1 2; 3 4] == 2  [0 1; 0 0]







 any(v) 


 all(v) 






 any(any(C)) 


 all(all(C)) 








 x < y 

 x <= y 

 x == y 

 x >= y 

 x > y 

 x ~= y 

 x != y 

 x <> y 







 B1 & B2 

 B1 | B2 

 ~B 

 !B 




 B1 && B2 

 B1 || B2 







 


intersect_line_circle.m, 
drawrobot.m, calcprobability.m

  
LocalizeRobot.m, MatchScan.m

 


continue, int2str, isnumeric





 
 
 
 
 
 
 
 
 
  
 














function name
body

end











function [ret-var] = name(arg-list)
body

send

arg-list 


ret-var 
ret-var 








function [mu sigma] = calcmoments(data)
mu = mean(data);
sigma = std(data);

end

function [haspeaks i] = findfirstpeak(data, thresh)
indices = find(data > thresh);
if isempty(indices),
haspeaks = 0; i = [];

else
haspeaks = 1; i = indices(1);

end
end







 


 varargin 


 varargout 


 nargin 

 nargout 

help varargin, help varargout 










 calcmoments.m, findfirstpeak.m



[bool i] = findfirstpeak(myreadings, 0.3);

% 








 



 


 

octave:1> LocalizeRobot

 % 








 
help command.

 



%NORMANGLE Put angle into a two-pi interval.
%   AN = NORMANGLE(A,MIN) puts angle A into the interval
%   [MIN..MIN+2*pi[. If A is Inf, Inf is returned.

% v.1.0, Dec. 2003, Kai Arras.

function an = normangle(a,mina);
if a < Inf,
[...]









 path 

 addpath('dir') 


 rmpath('dir') 


 savepath 





 
 
 
 
 
 
 
 
 
  
 







 load 

 save 

v = randn(1000,1);





 
 
 
 
 
 
 
 
 
  
 







 clear A 

 clear frame* 


 clear 

 clear all 


 close 

 close all 

 clc 







 


 






 









 pwd 

 ls dir 

 cd 

 mkdir 

 rmdir 



 movefile 

 copyfile 







 rand randn 


 




 rand('seed',value) 
value

 randn('seed',value) 
value





 
 
 
 
 
 
 
 
 
  
 



 



 

filtered_readings.txt

0.792258   0.325823   0.957683   0.647680   0.498282
0.328679   0.414615   0.270472   0.975753   0.043852
0.601800   0.062914   0.837494   0.621332   0.870605
0.940364   0.036513   0.843801   0.806506   0.804710
0.937506   0.872248   0.134889   0.042745   0.228380

 load 
A = load('filtered_readings.txt');





 
PlotFilteredReadings.m

A =[0.792258   0.325823   0.957683   0.647680   0.498282
0.328679   0.414615   0.270472   0.975753   0.043852
0.601800   0.062914   0.837494   0.621332   0.870605
0.940364   0.036513   0.843801   0.806506   0.804710];

figure(1); clf; hold on;
plot(1:size(A,1),A(:,1));

 
 PlotFilteredReadings

 





  


 


 

 

  

  

  

 





  phi = linspace(0,2*pi,100000);


for i = 1:length(phi),
sinphi(i) = sin(phi(i));

end;



sinphi = sin(phi);

 


 





  

 

for i = 1:100,
A(i,:) = rand(1,50);

end;



A = zeros(100,50);   % preallocate matrix
for i = 1:100,
A(i,:) = rand(1,50);

end;

 





  



 
data.x = linspace(0,2*pi,100);
data.y = sin(data.x);

 
people(1).name = 'Polly J Harvey';
people(1).age = 32;

people(2).name = 'Monica Lebowski';
people(2).age = 27;

 


